Pike--long pole 10-25 feet long
Musket-- 3 shots per minute
Cannons--Napoleon favored smaller, lighter cannons because of maneuverability.
Rifles were invented but took longer to load.  They were more accurate though.
Lines of men were used because muskets were so inaccurate. Concentrated lines were sure to hit some men.  Plus you could use more strategy with longer lines.  Small boxes of men were easier to shoot at and harder to get shots off. 
Bayonets were also used and were attached to muskets.
Swords were still used.
